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207 AN LI 40,000 300,000 260,000
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O Tsdgadnzg | KIE4H| 40,000
HAXE K& 4,165,000 3,393,580 766,420
= 2,555,000
& 1,610,000
HEEN StAl SEXA 325,000 2,314,000 A 1,989,000
= 250,000
& 75,000
308 AXISHMSOIH 325,000 2,314,000 A 1,989,000
= 250,000
& 75,000
01 IXSHHBLERS 325,000 2,314,000 A 1,989,000
OFUHZAM StAl EEXA 325,000
= 250,000
& 75,000
Y FEAXNESZ UHE0IA X&A 1,280,000 1,084,580 195,420
307 212+01™ 1,280,000 1,084,580 195,420
0B OIXtEXZ 1,280,000 1,084,580 195,420
O&YE FEHAXESZ OIAHKIH 1,280,000
HUETHE XA 2,170,000 0 2,170,000
= 2,005,000
& 165,000
201 L2 AY| 10,000 10,000
01 AtR22eltl 10,000 10,000
OFETH X2AY NFFENZEE2S 2
o = 10,000
308 AXIHMSOIH 2,160,000 0 2,160,000
= 2,005,000
& 155,000
13 BI| 2 SHICHeHE & =2 EF AL I 2,160,000 0 2,160,000
OFEEEH XJASA 2,160,000
= 2,005,000
& 155,000
A MNEEZLEEE 2352 X 390,000 0 390,000
= 300,000
& 90,000
308 AXISHMSOIN 390,000 0 390,000
= 300,000
= 90,000
01 AIXISHHBAEES 390,000 0 390,000
OFA MNESseeEEs 3= N 390,000
= 300,000
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